
1 1 6=04 du/ af}$ u'Djf lgdf{)f 50000.0

1 2 6=06 cflbaf;L hghflt Ifdtf ljsf; 60000.0

2 3 6=06 ls/ft ofSy'ª r'Dn'ª e]ife'iff 40000.0

2 4 6=06 u'?ª hflt e]ife'iff tyf ;+:s[lt 30000.0

2 5 6=06 e'h]n hfltsf] nflu yfg lgdf{)f 30000.0

3 6 6=06 g]jf efif l;sfO{ sfo{qmd 80000.0

4 7 6=06 lnDa" hfltx?sf nflu e]ife'iff 50000.0

4 8 6=06
;Gyfn tyf dw];Lx?sf nflu ;+:s[lt 

;+/If)f sfo{qmd
50000.0

5 9 6=04
cfhhf sf] j*f ;ldlt sfof{no 

Joj:yfkg
60000

6 10 6=06 afhfufhf vl/b tyf Ifdtf ljsf; 90000.0

7 11 6=06
cflbjf;L hghflt e]ife'iff tyf 

ef}lts ;fdfu|L
90000.0

8 12 6=06 cflbjf;L hghflt ;+:s[lt ;+;If)f 95000.0

ky/LzlgZr/] gu/kflnsf, df]/ª\sf] cflbaf;L hghflt nlIft k|:tfjLt sfo{qmd tyf ah]^, cf= 

j= 2073.074 

j*f 

g+=

qm= 

;+=

ah]^ 

;+s]t 
sfo{qmd . cfof]hgf g]=;/sf/ cfGtl/s s}lkmot

8 12 6=06 cflbjf;L hghflt ;+:s[lt ;+;If)f 95000.0

9 13 6=06

cflbjf;L hghflt l;k ljsf; 

k|fljlws lzIff ;+:s[lt ;+/If)f tyf 

;r]tgf sfo{qmd

110000.0

10 14 6=06
cflbjf;L hghflt l;k ljsf; 

;+:s[lt ;+/If)f tyf ;r]tgf 
95000.0

11 15 6=06

cflbjf;L hghflt l;k ljsf; 

e]ife'iff, ;+:s[lt ;+/If)f tyf ;r]tgf 

sfo{qmd

100000.0

12 16 6=06 l;kd'ns tflnd ;~rfng 110000.0

13 17 6=05
lslt{k'/ ahf/ b]lv k"j{ sd/^f]n x'b} 

ls/ftrf}s hf]*\g] af^f]df u|fj]n
100000.0

14 18 6=06
cflbjf;L hghflt l;k ljsf; 

;+:s[lt ;+/If)f tyf ;r]tgf 
100000.0

15 19 6=06
cflbjf;L hghflt l;k ljsf; 

;+:s[lt ;+/If)f tyf ;r]tgf 
100000.0

20 6=06
>L l;l/h+uf :d{lt wfld{s jg 

;f:s[lts sfo{qmd
50000.0

21 6=03 cfhhf dlxnf ejg d]lzg/L cf}hf/ 300000.0

22 6=06 s'znahf/ Joj:yfkg 0.0 500000.0

23 6=06
gu/kflnsfsf] lg)f{oaf^ :jLs[t 

cfof]hgf 200000.0

24 6=06 o"jf :j/f]huf/ tflnd 300000.0

25 6=06 cGo cf=h=hf sfo{qmd 400000.0 241000.0

2190000.0 1241000.0hDdf ?=



1 1 6=06
ul/j tyf lk%l*Psf Ho]i& gful/s 

;Ddfg 
30000.0

2 2 6=04 a[$f lj>fdfno-wd{zfnf_ lgdf{)F 50000.0

3 3 6=04 d)*k lgdf{)f 50000.0

4 4 6=04 Ho]i& gful/s lj>fdfno lgdf{)f 50000.0

5 5 6=04 Ho]i& gful/s ejg lj>fdfno 60000.0

6 6 6=04 Ho]i& gful/s ejg lgdf{)F 50000.0

7 7 6=06
Ho]i& gful/s ejgsf] u|fp)* k'g]{ 

sfo{qmd 
30000.0

8 8 6=04 Ho]i& gful/s cw'/f] ejg lgdf{)F 35000.0

9 9 6=06
ul/j tyf lk%l*Psf Ho]i& gful/s 

;Ddfg sfo{qmd
30000.0

10 10 6=06
ul/j tyf lk%l*Psf Ho]i& gful/s 

;Ddfg sfo{qmd
35000.0

11 11 6=06
ul/j tyf lk%l*Psf Ho]i& gful/s 

;Ddfg sfo{qmd
30000.0

ky/LzlgZr/] gu/kflnsf, df]/ª\sf] Ho]i& gful/s nlIft k|:tfjLt sfo{qmd tyf ah]^, cf= j= 

2073.074 

j*f 

g+=

qm= 

;+=

ah]^ 

;+s]t 
sfo{qmd . cfof]hgf g]=;/sf/ cfGtl/s s}lkmot

;Ddfg sfo{qmd

12 12 6=06
ul/j tyf lk%l*Psf Ho]i& gful/s 

;Ddfg sfo{qmd
30000.0

14 13 6=06
ul/j tyf lk%l*Psf Ho]i& gful/s 

;Ddfg sfo{qmd
35000.00

15 14 6=06
ul/j tyf lk%l*Psf Ho]i& gful/s 

;Ddfg sfo{qmd
30000.00

545000.0 0.00hDdf ?=



1 1 6=06
ckfª\utf ePsf JolQmx?sf] Ifdtf 

ljsf;
30000.00

0.00

2 2 6=06
ckfª\utf ePsf JolQmx?nfO{ 

cled'lvs/)F
50000.00 0.00

3 3 6=06
ckfª\utf ePsf JolQmx?sf] Ifdtf 

ljsf;
40000.00 0.00

4 4 6=06
ckfª\utf ePsf JolQmx?sf] Ifdtf 

tyf l;k ljsf;
50000.00

0.00

5 5 6=06
ckfª\utf ePsf JolQmx?sf] Ifdtf 

tyf l;k ljsf;
40000.00

0.00

6 6 6=06 ckfª\utf d}qL sfo{qmd 20000.00 0.00

7 7 6=06
ckfª\utf ePsf JolQmx?sf] Ifdtf 

tyf l;k ljsf;
50000.00

0.00

8 8 6=06
ckfª\utf ePsf JolQmx?sf] Ifdtf 

tyf l;k ljsf;
35000.00

0.00

9 9 6=06
ckfª\utf ePsf JolQmx?sf] Ifdtf 

clea[l$
30000.00 0.00

ky/LzlgZr/] gu/kflnsf, df]/ª\sf] ckfª\utf ePsf JolQmnlIft k|:tfjLt sfo{qmd tyf ah]^, 

cf= j= 2073.074

j*f 

g+=

qm= 

;+=

ah]^ 

;+s]t 
sfo{qmd . cfof]hgf g]=;/sf/ cfGtl/s s}lkmot

clea[l$ 0.00

10 10 6=06
ckfª\utf ePsf JolQmx?sf] Ifdtf 

clea[l$
35000.00

0.00

11 11 6=06
ckfª\utf ePsf JolQmx?nfO{ 

l;kd'ns tflnd
30000.00

0.00

12 12 6=06 l;kd"ns sfo{qmd ;~rfng 30000.00

13 13 6=06
hglk|o ^f]naf^ dx]Gb| yfkfsf] #/ 

;Dd af^f] dd{t
30000.00

14 14 6=06
l;kd"ns tyf r]tgf d"ns sfo{qmd 

;~rfng
30000.00

0.00

15 15 6=06 l;kd"ns Ifdtf ljsf; sfo{qmd 30000.00 0.00

530000.00 0.00hDdf ?=



1 1 6=06 lk%l*Psf blnt Ifdtf ljsf; 30000.00

3 2 6=06 gf}dlt afhf vl/b 30000.00

5 3 6=06 l;kd'ns tflnd 40000.00

6 4 6=06 hgr]tgf clea[l$ sfo{qmd 40000.00

7 5 6=06 afhf ufhf vl/b 30000.00

8 6 6=04 ljZjsdf{ dlGb/ dd{t 35000.00

9 7 6=06 afv|f kfng sfo{qmd 30000.00

10 8 6=06 lk%l*Psf blnt Ifdtf ljsf; 35000.00

11 9 6=06
lk%l*Psf blnt Ifdtf ljsf; 

l;kd'ns tflnd
40000.00

12 10 6=06 gf}dlt afhf tyf *«]; vl/b 30000.00

13 11 6=06
pQdrf}saf^ ls/ftrf}s ahf/ hfg] 

af^f] lj:tf/
70000.00

14 12 6=06
lk%l*Psf blnt Ifdtf ljsf; 

l;kd'ns tflnd
35000.00

15 13 6=06
r]tgf d"ns tyf l;k ljsf; 

sfo{qmd
40000.00

ky/LzlgZr/] gu/kflnsf, df]/ª\sf]  blnt ju{ nlIft k|:tfjLt sfo{qmd tyf ah]^, cf= j= 

2073.074

j*f 

g+=

qm= 

;+=

ah]^ 

;+s]t 
sfo{qmd . cfof]hgf 2072.073

sfo{qmd If]q
s}lkmot

15 13 6=06
sfo{qmd

40000.00

485000.00 0.00hDdf ?=
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